| Reco

Vix_vs_GenVix

Reco verticelg
= N w SN a1 D ~l (0] (o] (@]
o o o o o (@) (@) o o (@]

o+

Rati

12
il

0.95

“mem
040 60 80 100 120 140
Simulated interactions

| MatchedRecoVtx_vs_GenVix

»100
o)

© i i
£ 90 P :

0]

©

o
I

o
I

20
10

.......................................................................

o S —

Matched reco ve
a1 »
7

N
o
! TTTT

30E

o+

Rati

=
!
[

0.95

o
o
(o2}
o

80 100 120 140
Simulated interactions

| Merged vs Closest

—— DQM_mkFit_XiMinusPUold

—=— DQM_mkFit_XiMinusPU_retrain2

Merge rate

0.4

0.2

| Ratio

0.95

1073 1072 107t

Closest distance in Z (cm)

O U.Z
+—

Q
IIII;&III

o

(o]

g1
TTTT TTTT]

......................

10 15 20
Z (cm)



	Contents
	Page 1


